COMBINED TECHNICAL SERVICES EXAMINATION
(NON-INTERVIEW POSTS)
COMPUTER BASED TEST
PAPER - II - BOTANY
(PG DEGREE STANDARD) (CODE: 269)



Pick out the factors affecting the size of the cell
Qededer sjerency LTHEGD srratsamer Carbdshssaib:

(1) Ratio of cell surface to volume of cell
Qe Gupurly, Qed sare| e ulorar cHldlgn

(2) Ratio between volume of nucleus to cytoplasm of the cell
SigiFmeilen Qar@Hs@d, Qedlear ast GLmAetresHp@nd Qe Gu
2 even elflsid

’

(3) Rate of metabolism
auaTéSleng wrHD &l

(4) Rate of cell division

. Qgaeller 9fley eflflgd

(A) (1), (2), (3) and (4) are correct
(1), 2), (3) wpgib (4) &

(B) (1), (2) and (4) are correct

(D, () wpgd (4) &

(C) (2), (3) and (4) are correct
(2), (3) wpmid (4) &f

\W{ (1), (2) and (3) are correct

(D), ) wppid (3) &

(E) Answer not known
cilenL Qgflweildvane
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2. If the carrier protein, transport a single solute from one side of
membrane to the other, it can be termed as

Gaflui yrsd scedar @6 UnsHABEE LOUDPSEDSG GG s@YLILTEOET

Garegr® Aaemred, gem GLwi ereer ?
jUniport

wefCumi
(C) Antiport

(B) Symport

HGumiL.

(D) Cotransport

Spemg Guimi - GamgyreeGuimiL
(E) Answer not known
allenL Gsflweiidana
3. Name the amino acid that 1s present more in the primary wall of a
plant cell
smeuy 2 ullggmefen pgenaws seufld, iflswrs @maéEh G Sibleb
gl 2
(A) Proline (B) Hydrine proline
HGymedl et eanl_fer yGrmedes

(C) Hydro proline
aenanL Grm LGrmeden

(E) Answer not known

alenl_ Gaflwellerena

Hydroxy proline
el gréssl LGrmedler

4. Name the phenol containing polymer and a major component -

of wood.

unedlni wHmID wrsslen WeHw samisenear CamamL Searmed erg)?

(A) Cellulose
gy Geomev

Lignin
a0l aflar

(E) Answer not known
den Gzsflweidens
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(B) - Hemai cellulose
Qapul QeogyCeomen
(D) Inulin
Gaydilan



Match the following :
Qummsgis :
(a) Complex I

srblieneTden L
(b) Complex II
smbrienergen 11

(c) Complex III

srolienerden 111

(d) Complex IV

smlenengen IV

@ ® (©
a1 2 3
1 3 2

3 1 2
D) 1 3 4

(E) Answer not known
eflenL Qgflueildane

Succinate - Ubiquinone Oxidoreductase
s&afCarl_ w98 wGeormenr |
4,5 THlL&GL 6

Ubiquinone - Hz - Cytochrome ¢ oxido-
reductase

W@y Garmerr - He - eve G Gy ¢

I &eflCLmPlLsCLev

NADH — Ubiquinone oxido-reductase
NADH — gy 948wy Ganmeir

& GLmhl&GLev

Cytochrome C — Oz oxido-reductase

sl CLrfCrmd C — O2
ETN: 321 [0 1) I T~

Name the layer that is found closest to the plasma membrane in

plant cell.

smeur Wgeeler Serrevion Fee)sE SiHHQIETET BB &G T8 ?

"(A) Tonoplast

G rGarmiYemevr_

( Secondary wall
- @TETLMD &euir

(E) Answer not known

cllen Qg flweldena

(B) Middle lamella
B0 QaGuwdar

(D) Primary wall
C (PSR FHeum
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7. In which stage of mitotic cell division, chromosome loose their
identity?
owlLmgs e Gfeller, ebs slLsded  GCmGunGsmbd  gen
S@LWneTSng @wsdng) 2

(A) Prophase (B) Metaphase
UGCrrGue G LrGue
(C) Anaphase O Telophase
< erm@Lie ' 14 GoorGuaiv

(E) Answer not known
cflen Qgflwaefdene

8.  Highly repetitive DNA is seen in
aFwrs War@Gin WerGib srenmiLBEETD 1. 6Ter.qF 6@ STemmiiLfHitd.

(1) Telomere
4 GeomSlwi

(2) Microsatellite DNA

W&ECFIETC1q ML 1g.6TEN. 6F
(3) Centromere
QaerGrmudluwir

(4) Cloning of DNA
fCeraflm 1 .ered. ey

() (1), (2),(3) and (4) (B) (1) and (2)
(1), (2), (3) whppd (4) (1) wpgb (2)

(C) (3)and (4 JU{ (1), (2) and (3)
(3) wpmiw (4) , (1), (2) wpmib (3)

(E) Answer not known
eflenL Qgflweildena
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10.

Match the following :
QurpsgHs
(a) Seed coat
clleng 2enm
(b) Seed bud
cfleng @ (h
(¢) Seed leaf
oflens @ana

(d) Inner seed coat
clleng o @re_emp

@ ® © @)
(A) 4 3 2 1

2 3 4
C) 2 4 3
D) 1 4 2

(E) Answer not known
aflen GgMwselldvenan

W =

Hulling % of rice is

Tegmen
QL &Qwen

Testa
QuevLm

Ovule
clleng &
Cotyledon
cligdHena

Cord Basriul L sfflufler sgeish eadganar?
60-65% (B) 30-50%

(C) 80-85%

(E) Ansvs'rer not known
ellenL. Qgflweildene

(D) 40-50%
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11.

12.

13.

The percentage of Cereals required approximately of dietary water
footprint.
snaflubisEhe@, assamen 56is 2 e B srdgLb Cameuliuiilenme ?

A)  75% (B) 85%

& 50% (D) 25%

(E) Answer not known
eflenL Gz Mwuelcdana

The largest pulses producing state in India is
@hdluredled Gumwareild LI eumssaman ellanarailg@n wrBlen erg ?

(A) Andhra Pradesh (B) Tamilnadu
ppdly GrGgew A0
\[ﬂ’/ Madhya Pradesh (D) Maharashtra

s YrGssi ) LO&TTM6igLq. T

(E) Answer not known
sllenL Qg flweiicaney

The best suited soil for groundnut cultivation is
CaisaLmoawu damacilés o shg LETL®S 68 ?

(A) Clay soil Sandy soil
&6 LD &5 LD G 60

(C) Loamy soil ' (D) Silty soil
Gamdl et Seb L e

(E) Answer not known
alilenL Agflwefldens
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14.

15.

Identify the odd-man out from the following types of seeds:
cengasaien euanaseiled, wpreamul L elangenw serTL .

(A) Breeder seeds (B) Foundation seeds
Qareli(rsd elengger S liueL cflengsar
(C) Hybrid seeds (I Labelled seeds
solnler ellangser Quuifleiint L eflengser
(E) Answer not known

eflen. Qgflwelcdansy

During mobilization of food reserves in seed germination,
“eflleng enemiibed, 2 amrey Ayl Hitb Cuitg, '

Lipids M) Glycerol + Fatty acids

anavoLFe
SUELHeer —> deflarmed + Gamuply obleorser

Glycerol —— Respiratory substrate

Haflagnedy — seung gariblummer

Fatty acids —— ?

Qarapliy Sblemsdr — 7
%Acetyl CoA
aflena Carer

(B) Fats
@amupuiy

(C) Amino acids (D) Oils
SIVGam fled T a0l GuTti

Answer not known

(E)
' ofenL Qgflueiicena
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16. Match the following :
sflwrer @enewtn Seir(hiGliy

Method
Ppenn
(a) Scarification

elleng STULDTSEGEH

(b) Impaction
@ndlw GenarTiiL

(¢) Stratification
vighlena p&sih

(d) Photo periodism
aeflsreggieu b

@@ ()
A 2 3 4
B) 1 2 3
© 3 4 1

4 3 1

(E) Answer not known
ellenL Qgflwaldrena

269-BOTANY

(d)

B DO W

10

Strategy

Nlergsib

Incubation of seeds at a low
temperature and transferring is to
high temperature

clilemgaener @Gaphs QeuliusdlbhE

2 I LGS, s QeuliuflanasE

W MISED

Light induced seed germination
clleng (evarssame gallsd,
greisrL_ UL (nged

Shaking the seeds

cilengsmer 2l Higw

Breaking the seeds coat

clileng 2 mpat 2 LFHD -



17. Dormany in paddy can be broken by
Qpe@elen 2 pés Hlevwerw dagsd Garar® Hé&s apgub.

(1) HNOs

(2) KNOs

(3) Thiourea
4) FeO

| (1) wppwb (2)
(B) (3)and (4)
(3) whpod (4)
(© (1) and (3)
(1) wppid (3)
(D) (2) and (3)
2) wopi (3)

(E) Answer not known
eflen Ggfweldene

18. Seeds whose germination is affected by light are called
dleng Wpaergsd, gefiund urdsstiub HlepellhEd ———eremm Guwi.

(A) Photodynamic _ (B) Photonastic ,
6l Bussellwe aafl eraianawansay
(C) Photoperiodic ﬁotoblastic
gafl sraggeub | cafl eTmenig &

(E) Answer not known
eflenL. GQzflwellcrene
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19. Statement [A]: In monocotyledons, endosperms reach the
maximum morphological development and form
the major part of seed

aundSlwibd [A] : @ dgdlenad  greugruselledd,  ereRTGLTEVLITDEET
wpdlrEflllenr Cungl, iflawrar euetiéflen sien_deTmer
wHmibd eflengullen QUL LGS 2 aTerL swgmEb.

Statement [B]: In dicotyledons, the endosperms may not develop
or may be used by developing embroyo

aumsAwin [B] : OlGRAEE Freurriseie, er@mGLmeUINb& 6T
2 (HEUMETOGD QBSHOND SIDOF  GUaT(H  S(HEUTED
LweTU(RSS LI amib.

(A) [A]is true and [B} is false
[A] &fl, ODWL [B] seup

(B) [A] is false and [B] is true
[A] s wpmuod [B] &4l

W Both [A] and [B] are true

[A] wHmd [B] &

(D) Both [A] and [B] are false
[A] wpgid [B] seug

(E) Answer not known
eflen GQgflwaldene

20. The number of strands after 10 rounds of replication (219) in giant
chromosome of Drosophila is

vt FAled guilant GrCunrCsmnd 10 spmsedar GrdQupousneE Gn
G & S o =AU G &

(219), somit ————— @epamas Qarem@eTeng.
@( 1024 (B) 2048
(C) 3072 (D) 4095

(E) Answer not known
eflenL Gsflweldena
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21. Place the following in the most likely order for biosynthesis of a

bacteriophage
Gemeupeuareupern LnGefGurGugien LJGU_JFTé]'l'_F;g;éﬂGD Qeuuy auflenganw
uanaLUhESS.

(1) Phage lysozyme
Gug. ewaCGevrengid T

(2) mRNA
OTLD. By, IT. 6T 6. 6F
(3) DNA
9. GT60T. 6T

(4) Viral Proteins
eneurev L1GrmLig 6

(5) DNA Polymerase
g.6Teir.¢7 LmedlGren

@) (), @, 3), 2,1
B) (1), @), 3), @), ()
W ©,6),03),®, Q0
D (3, 6), @, @, Q)

(E) Answer not known
eflent. Qsflweidena
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22. Find the incorrect statement in managing citrus canker disease.
S rev Gaist Cpreow Hiparfliudléd gaprear cursfwugeng sarmLHluayb.

(A)
B)

(€)

Burning of infected plants in the nursery
urdsatiue L Qagerws BrophstadlGe erilssd

Spraying copper fungicide before planting
bLay Qalieugh@ e sTULT LEiass darddlew Ggalgsd

Use of disease free nursery stocks
Cpmis Goens ErHnhsTd LkiGSmer LLTLHSSISE

‘(D’J/ Disease resistant varieties should be avoided

(E)

Gomi erdiiriiy Qagsemen salliss Geuarr{Hb

Answer not known
efen GAgRweildena

23. Find the mismatched pair
sauprer GLrEsssms s,

Micro organisms themselves are industrial products.
n&rgnuifsGar Gsmfidgien Qurml sarms LwaTURSSLLHEDS.

\& Penicillium — Treatment of disease

(B)

(©)

(D)

(E)

Quefefledw — Grm AL e

S-cerevisiae — For fermentation
sn&sGrrenwadiay sreieflGuw — QBrslssd
Rhizobium — increases nitrogen in the soil
ayGemAuwibd — wearranfléd enplrmenear Biflasflssd
B-thuringiensis — insecticide

urefleen giflsHuwismaldlen — LFflGsmaed

Answer not known
aflen Ggfwelldene

269-BOTANY 14



24. Find out the reaction, that is undesirable in wine making
puier surfitiugle mbusssts clanarap SamL HuieLb.

(A) Sucrose — Ethanol
GECTTED > TSSETT6)

( Ethanol — Acetic acid
TSI ~> NS Ig.& Llevid

(C) Glucose — Pyruvic acid
GenGanen — epuheils Sitlevib

(D) Malic acid — Lactic acid
wredlé bl — wrégé iflon

(E) Answer not known
e Qgflweildvena

25. Which organism is the responsible for the holes in Swiss Cheese?
sellsvuiment & s igsetldr Gienarsear cflpd smyemnrs o drer o udfl”

(A) Pencillium - (B) CO:
Quefldlun SniTueTanL. SL&E@aV(H
Mropieni bacterium (D) Acidity
LCrrenuGuimell urseAwr Sl Femento

(E) Answer not known
sllenL Gzflwueildane
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26. Match the following :
Qurmsss.
List I
utgwe I
(a) Vibrio parahaemolyticus
ARG abfGrene g ssev
(b) Enterotoxigenic E.Coli
eremm_Grym Lnéeflgmails mGamed)
(¢) Clostridium perfringens
dlermevie Mwibd GQurdhigrFeren
(d) Bacillus cereus
CGuélelev HMev

@ @ © @
A) 1 4 2 3
4 3 2 1
©€) 1 3 2 4
™4 2 3 1

(E) Answer not known
ellen Ggfweildana

List IT
utguen IT
1. Rice dishes
sl o amTeysaET
2. Meat
@eonad
3. Water and vegetables
B wopb smisdser
4.. Opysters and shrimps
S whmbd Gord

2'7. The geheral name, “mycorrhiza” is literally means

aWw&Careprenrallen HTGHh eTeser ?

' ‘Jﬁ/ Fungus root

Lerens Geurr
(C) Fungal spore

Lerens avGum

{(E) Answer not known
aflen Ggflueidrena
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(B) Fungus conidia
Lereme Qamefiquim

(D) Fungal foot
LL@REeng L.



28.

29.

Leghaemoglobin is present in
QeaGursGarmier aeatug greursden eruu@uileds Gmasnd e Bin

(A)

©)

(E)

Leaf (B) Stem

@ena Setr(h)
Flower Moot nodule
L, Geuir W &a&

Answer not known
cllenL QgMwelidreney

The secondary treatment of sewage water 1nv01ves two systems to

add oxygen to water.
srésmL  Bflar @remembd Hleow &sdefiviy  Bld, sallgaear Csiss
LUETURLD @TeE(h DeWULSE Wrene ?

‘}( Trickling Filter and Activated sludge

(B)
(©
(D)

(E)

LRsHallm euiqa i wHmb 2péhigGail 1 dva s

Grit chamber and Slit separator
AR smbui whmbd edledl QeriuGrioy

BNR and Trickling Filter
BNR pmib A&k angsiig

Anaerobic digester and Aerobic dlgester
srHdlcreon e g6 HDHID STHmIETET pL_ggevL T

Answer not known
cfleni- Qsflueidena

17 269-BOTANY
[Turn over



- 30. Assertion [A] : Rod shaped bacterial cells are called as Bacilli

gapm [A] : a1 euger ursefur Qewsdar Culed erariu@ib.

Reason [R] : Length and width are same in coccobacilli and
arrangement of chain formation in streptobacilli

sryewrd [R] : ferd wHmd siseb CarsGasr Cuildluia ¢Cr wrdfwuns
@méE@n  wppd e CriGLmurdl  smdedl  ugeud
Gupdlméeid. |

(A) [A] is true but [R] 1s false
[A] &M, wemmed [R] seum

(B) [A] is false, [R] is true
[A] seugy, seme [R] &M

( Both [A] and [R] are true; and [R] is the correct explanation
of [A]

[A] womib [R] &, [R] erewng [A] Wer sflwmen eflergaid

(D) Both [A] and [R] are true, but [R] is not the correct explanatlon
of [A]

[A] wpgd [R] &M, [R] ereug [A] Qe geupren eflenssind

(E) Answer not known
- eflen Qaflwelcvanay
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31. Identify the conducive environment for the growth of Actinomycetes
o Canrannedl saflen euaTESEE 2 555 G AMLINETD Sraua|b

(1)

(2)

(3)

(4)

PH 6.5 - 8.0
PH 6.5-8.0

Temperature 25° - 30°C
Qauuflera 25° - 30°C
PH 4.5-6.0

PH 4.5-6.0

Temperature 30° - 40°C
Qauviufee 30° - 40°C

\yﬂ/ (1) and (2) are correct

(B)

©)

(D)

(E)

(1) whmio (2) &M

(1) and (4) are correct

- (1) vpmw (4) )

(2) and (3) are correct
(2) wpmid (3) &
(3) and (4) are correct
(3) whmid (4) &

Answer not known
dlen Qgflweidana

19
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32. Arrange the following events of viral reproduction in chronological

order
@augey  @erubumsssdlen  demeupd  flapeysmer  sreeuflanstiug
(PRI &HEN DESEE LD

(1) Maturation
WpHrEs
(2) Uncoating
2 enpen Bd@sen
(3) Adsorption
2 flgpage
(4)- Penetration
2a1(h) (HE|Seb
(5) Biosynthesis
o QnsGaisana
(6) Release
' Qeualll@Bged
A (B, ), (1),(2), D, (3)
B) (1), 3), (5), (2), (6), (4)
& ©), @, @, 6,0 6
D) (), (5), (6), (1), (2), (3)

(E) Answer not known
e Qg,ﬂu.iaﬁlsbsmv
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33. Name the protein coat of virus
evauredley smeaTlu@b yrs Carliger Quurt ereme ?

Capsid (B) Capsomere
Srliel amuGeumStwi

(C) Envelope (D) Nucleocapsid
eTaT@lGuevt) Bl HefCGuim el

- (E) Answer not known
sflen GgMwehldrena

34, Name the chemical used to break the cell wall barrier in root hairs
Geutr  apysefles odrer Qedseur soLea 2oLéds UweaTUHSSIUEID

CeaudlQumpaflenr Guweny @GHLUGLeyD

Polyethylene glycol (B} Polyethylene glycerol
uradlergdiedlen Slepavamed unellersSledlerr Seraymed

(C) Polyethylene glucose {D) Polyethylene glycogen
urallargdiadlern @ ensGamen urellerglellenr HenardGammen

(E) Answer not known
eflen_ Az flueicrency

35. Name the hormone produced in the root region by Rhizobia during
the curling effect of infection thread formation.
CpmuQsmhm B 2 meur@h amer slLgdd, esGsrQur eped Geuf
. u@dlé 2 pusd. Qeunu@n ewmiGirafier Guwif :

(A) Cytokinin (B) Gibberlin
el _GLrengen e ol 14l el et
(C) Auxin ' Mdole Acetic Acid
2, & 86 GarGLmed Al nd sl

(E) Answer not known
e Qzflwaelldena |
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36. The crystal protein produced by Bacillus thuringiensis is
Cuéldraven FHEpHlwenflen 2 (FeUT&@GHL Uiy SLTSD eremes ?

( Endotoxin (B) Exotoxin
eTeoroL_mmé &l ebr T&Gam_ré&dler

(C) Mesotoxin (D) Peripheral toxin
BGem_m&Her CuiCGure Lréder

(E) Answer not known
eflenL Qgflwelildvana

37. An encapsulated bacterium can be virulent, because the capsule ]
aanGaslflGool L ursleflub, oSflwb GHSETE WAD STIETD, iGN
LS WA

y resist phagocytosis

unGasrengl GLrflav erdlis @

(B) 1s an endotoxin
era@mGLmLmsd e

(C) destroy host tissue
yreue Sessmer P&EWD

(D) interfere with physiological process
2 | eflwer Qawdwpepuid samaullGSnsg

(E) Answer not known
sllenL Qgfwaldensy
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38. Which of the following is not a portal of entry for pathogens?
Yerreuheuameupdladd erg CrmudmullasEndarer menpeuruildy @dana ?

(A) mucous membrane of respiratory tract
seung Gpruller gafl seuey

(B) mucous membrane of gastrointestinal tract
@errlienu @wmuller safl Feuay

\M skin
Camed
(D) blood
Qs

(E) ~Answer not known
eflenL Ggfweildena
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39. Find out the incorrect statement in the nature of transmission of
diseases. .
Cpmiu  Qarhmissdt ureysdenr Suuemiutid  Spasrapd  sFmpdld gy
FeUDMETg) ? '

(A) DPeople having disease or carriers of pathogenic

micro-organisms are human reservoirs of infection
Cumu o drareufisdr Sjdag Crrusdmd @m@uﬁ]ﬂgaﬂm GaRwursar

Crrugtsmhdlen g <ysmiyD

(B) Some pathogenic micro-organisms grow in  non-living
reservoirs
oo CrmusSlmll memanuifaer 2 ulypp Hlenausatledr euarmb

Zoonoses are diseases that affect human beings and can

transmit to animals
BCeTev ST weflgener umgl & @b CrmuGsrhpisseT OO
ellerti@s@ps@IDd LFeudanigw GHBml

(D) A continual source of infection is called reservoir of infection
Crmugtsmpilen Qarrsfluner srrsens, Ggrhdler psTmD eTemmy
SpsaliuGEng

(E) Answer not known
clilenL Qgflweidene
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40. Find out the incorrect statement:
seuprer eunsEHwuseams sedle
(A) Fungi usually grow better in an environment with a pH of
about 5

L@rens Qurgieuns pH 5 o drer @wealé Bemms suar@hid

(B) Fungi requires less nitrogen for its growth
wepemeulen cueTidEsld@ @eampeurer enplymer GoanauliBidng
Fungi are not capable of metabolizing complex carbohydrates
yepamswne fssorer smiGureman . GriemL euariflens wrHHD LeKTERT
PRuTgl

(DY Almost all moulds are aerobic .
Qurgieuns eréen LEranFsHEHEELD sallnear CsaneutiBGEmng

(E) Answer not known
eflenL Qzflweildama
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41. The trait of male sterility of plants is controlled by
Sraifhsailen e ol (Hidsaramwa i s Hiriubhsgieus g ?

(1
(2)

(3)
(4)
(5)

A

(B)

(©)

D)

()

Genetic male sterility

WU el Wl (Hssemann

Cytoplasmic male sterility

ang GLmlermevifls e weal Hisemento
Cytoplasmic genetic male sterility

el GLmiarmeuis Wrug e WL (HESmento

Genetic female sterility
wyug Quer el (Hsserann

Cytoplasmic genetic female sterility
gl CLmSermauitls wruegm Quet el HSsemenld

(1), (2) and (3)
(1), (2) wppis (3)
(1), (3) and (5)
), (3) wopd (5)
(3), (4) and (5)
3), (4) wppod (5)
(2), (4) and (5)
@), (4) wppw (5)

Answer not known
cflenL Qgflweidrena
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42, Assertion [A] :

auslypssd [A] :

Reason [R] :

STITesTLD [R] :

The term Karyotype has been given to the group of
characteristics that identifies the particular set of
chromosomes.

sriGum_enL D T Cleme T SO L
&CyrGwnCenbsefler  Gawrdsumsemar @@L WraTD

&TEHILD
A diagrammatic representation of a Karyotype of a
species is called as idiogram

e @easdar  erfiCurert upPlu  euesguULL
Qrdfldsgeud gy Curdlymbaer eramiLBib.

(A) [A]is true but [R] i1s false

[A] &0 garred [R] seum
(B) [A]is false but [R] is true
[A] seupy pemmed [R] &M

Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

[A] womib [R] &f, speme [R], [A]Wer sflwrar efaréasnd side
(D) [A] and [R] are true, but [R] is the correct explanation

of [A]

[A] wpmin [R] &M, speme [R], [A]Wer sflwnen aflarésd @b

(E) Answer not known
eflenL Ggflwedlcrena
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43. There is full linkage in Drosophila males. What exactly is the

rationale for this?
1y CrGemleon gyamsaild app GeertiiL o drarg. @sherar STTaILD e ?

(A) Genes are close together (B) Theory of coupling
- IUEmI&SET QBHESLOTSG 2_dTeTar Qeansgd Camtur®
\(5}/ No synopsis (D) Gamete coupling
esdlensa) Qoma GCaifll. @evanriiy

(E) Answer not known
eflen Qgfwelldene

44. A linkage group is defined as:
QevewriL) @ eTeucun ueTUMISSIILRSDS.
All the linked genes of a chromosomal pair
&CrGurGemb Cgrysafiar simarss QeerrésriLic L LTI G S&ET

(B) Different groups of genes present on different chromosomes
wrugnssaiar deduGom @Guwssdr QauaCam @GCrmGurGambaamer
euLpmhIE &l eTm e

(C) All the genes located on the same chromosome

Simarsg Lrugn&sEh @Gy GCrmGurGemid e bgdrerer
(D) None of the above

Goupied ergIeGuw @dene

(E) Answer not known
eflen Qgfluelidera
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45.

46.

If a women (xx) is colour blind and marries a normal visioned man
(xy), then

e Quar (xx) ApsEmH woHmb srgmya LMimeuder e (XY)
LD GIOT B e

(A)

-(C)

D)

(E)

All 7, sons and daughters will be normal visioned.

SANISE 1 WEHETH@HID, DSENG@HD FTSTHERT LITTeneuU|LeT @) (HLILff

All 7, sons will be colour blind and daughters will be normal
visioned.

S@Sg | DSAHEHD  HDEGHLIGETTSD, WDEETHET ST
urfeneUwLapitb @ (sULImiaser

All 7, daughters will be colour blind and sons will be normal
visioned.

Seandg 1,  DEASEHD  BDSGLISOTISD  IDSEHGET  FTSHTIEHT
UMTeneUL|L gD @} (HLILITTEET

All 7, sons and daughters will be colour blind.

D) | &ETEEHD, EETEEHD Bln&EmLisems @)U

Answer not known

eflenr. Gsflweidwvena

The most effective and most widély used treatment for chromosome
doubling is
&CrGuonCGemh  @riguyse eeybd uvwgieder Sfsmsurarg Weeab

urauensl LwaLhSsLILHSDE

(A)

©

(E)

Regeneration in Vitro Jﬁﬂ/Colchicine

AL Crreiléh Wieh(HaumEaD Qameb Sl
Spontaneous . (D) Physical agent
ST F @ FUI TEuT 2 L & wp&seul

Answer not known
clenL_ leﬂu_laﬂsbmm
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47. If both genotype and phenotype shows the same ratios of 1:2:1 in the
72 generation, it shows

72 geooupepuld wruam s wHND Lpams @rar@in 1:2:1 e @Gy

flgseans &L qarmed
j incomplete dominance in monohybrid cross

CurGarmraantfl. yrefléd aprpepowhyn féatn

(B) complete dominance in monohybrid cross
GunGarmenaniifi Arraldléd (ppepwuImaT <y HEsh

(C) dihybrid cross
L Ganufle Syrev

(D) co-dominance
@ enenT - 2 HlEED

(E) Answer not known
alenL GgsMwellereney
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48. Heterosis can be fixed in heterozygous condition
Can GLrGrrfleven CamiyCrrsamasen Hlavauild st HUubsgielgl eliuly

(1) Omitting meiosis
Burflens seurliug
(2) Omitting mitosis

el LTl geurtiug)

(3) Chromosomal manipulation
&CrrGwrGsnend enaWIMEhse

(4) Gene manipulation
EMET DSHWITEHHE

(A) Both (1) and (3) are correct
. (1) wHmw (3) &M
\y Both (2) and (3) are correct
(2) wpgib (3) &
(C) Both (1) and (4) are correct
(1) wpmw (4) &M
D) (1), (2), (3) and (4) are correct
(1), (2), (3) wpgd (4) &

(E) Answer not known
eflen Qsflwelcrene

49, Random chromosome assortment can be studied by
o GCImCwrGenhd uamsliLSsme ey Halieus eriilig

(A) Polyploady | (B) Auto-diploidy
ureSlufermulliy. < Grmg s Germuilg

\p/Auto tetraploidy (D) Auto triploidy
_ < Gur Qi gmllermullg. ' < GLmgengifermullig

(E) Answer not known
cllent. Wafiweildvenc
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50. Name the Russian scientist, who crossed radish (R. Sativus) and
cabbage (B. Oleracea) to produce intergeneric hybrid Raphano
brassica.

pemeriudl oMb plent_Gareney @ananrsg @enitGmalNs soulansams
2 Husd Qawg reasw allehesraiuier Quwey GRUHS.

(A) Nikolai Vavilov (B) Boris Kozo-polyansky
Hl&Gasmeous euralleomel Gurmfley CarGar-Guresieudl

( Karpechenko (D) Vladimir Komarov
sridusGanarGCar eSlemmfi &mwnGyr

(E) Answer not known
e Qg flwaiidena

51. Plant breeding aims to improve various characteristics of plants so

that they become more desirable for

@i Qu@ssnd  sreurmsaiier  udGeum  uaTyser  GubLR SIS
Coréswns Qerarhh BbLSsEEsNs agen gliuamlufd Wwrmib serenio
Qaremene

(A) Agronomically

efleugmu fdwirs

(B) Economically
Qummerngny fHwres

\(9/ Both Agronomically and Economically
efeusmu whHmbd Aurmerngry fEwuns

(D) Emphasizing'trait
uerer euellymisgdlng)

(E) Answer not known
M GsMweNdenew
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o2.

53.

Match the following, based on Wobble Hypothesis :
sarQer smECamailar L QUTBSFS.

List I List II
ugwes IT

1. AorG

A soag G

2. U,CorA

U, C moeg A

C
C
£
E
(2
j—

(a)

(b)

(c)

(d)

Qoaacacer a0
o

B
=i aioNo!

(@ b © (@
a1 2 3 4
B2 4 1 3
© 4 3 2 1

3 4 1 2

(E) Answer not known
eflenL @gflwelidvena

During transcription the DNA site at which RNA Polymera:se binds
1s called

ug e@ssdlar Cumg, RNA urdlnCrev AQeansgn DNA  gagdne

erermy Gluwrr.

"~ Promoter . (B) Regulator
enaflwgspenLw RUBEGURSH

(C) Receptor (D) Enhancer

gl Cuibu®Bss

(E) Answer hot known
ellenL Ggflwsildhenad
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54. DNA synthesis proceeds in the direction
3. GTE. 6 2 (HeuTSHsLD addleanguier panL_Qupdlpg 2

\V 5'to 3' (B) 3'to 5'

&' wpse 3' ueny 3' psa 5 ey
(C) 3'tod (D) No rotation
3' wad 3' uany &pHél @dene

(E) Answer not known
elen Qsfweldena

55. Okasaki fragments are
@Ganard] geRTHEET T DT CTeben ?

\y/ Short DNA fragment on lagging strand
Neigradlu sl LsHd HHu q.cTer.qf gamH a6
(B) - Short DNA fragment on leading strand
enarani s L gl APl g .eTerm.q Gi@whseT
(C) RNA primer requires for initiating DNA synthesis

Ig.6TE.6f 2 (heurs, yfi.erar.e Wenror Cana

(D) DNA fragments produce due to radiation action _
sfireiss GQeuduriyer srgamwrs 2 pussl CQEUWUUED . 6Ter.er
Gl (HigeT

(E) Answer not known
elen QgMwelcrency
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56. AUG codes for
AUG aanug), eis olGart iflasms &Hlé@ ?

(A) Valine (B) Histidine
Ceuanees aubleivig.enL_6b

(C) Phenylalanine Methionine
19 enaTeh B Qe aTEHT 156 Cuwimenewes

(E) Answer not known
sllen_ Agflweiidane
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57. Match the following:
Aeraumeuaraupenn GUmTBSS S.

(1)  Adenosine — Adenylic acid — GMP
2l Canmmleanr — sigaflads sifleow — sil.erb. 14
(1) Guanosine — Guanylic acid — AMP
GeunGarméler — Geuraflels llewd — ¢ .erb. 1
(iii) Cytidine — Cytidylic acid — CMP
Tl lg T — DFL Iy ellE Bileud — &l.erb. 1
(iv) Uridin — Uridylic acid — GDA
wyflger — wifligells bSloow — gl.ie. 19
(A) (1) not correct
(1) eflulerenew
(B) (i1) not correct
(1) sMu@eene
‘}( (iii) is correct
(111) &
(D) (iv) not correct
(1v) sfll@crane

(E) Answer not known
eSlenL_ Gg,rﬂyafﬂsbmco
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58. Deoxyribonucleoside is

e S SedlerGurBlysaiGuitena( ererLg

(A) Deoxyadenosine
le 2y el g Cammd e

Nitrogenous base and deoxyribose
enpL gl Carev g liuen HND e deflegGumsy

(C) Thymidine and deoxyribose
angLlig e HMID ey dallepgGLimav

(D) Pyrimidin and Purine
eufliyer whmb 1y, Me

(E) Answer not known
cllenL Qgflwailcrency

59. The similarity of the frequency is, calculate following formula:
< rQeuamanflar o (meuawirang Gereud GHSHTS5M5E samsiRDg

(A) ng=2nAA+nAa
ns =2nAA +nda

\V _Ng _2n,, +nAa
o N

_Ng _ 2n,, +nda
2n 2N

(E) Answer not kriown
eflen Qzflweldana

q

37

B) n,+nA=2Nandp+q=1
ng+nA=2Nandp+q=1

(D) All the above

@lae SnasgID
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60. Hardy Weinberg law is applicable, only when the mating is
@ansGaisemauien  erbhleneoued, anig elen@uis b QurEsswrs
S{eHLOWLD ?

(A) Non random mandom
oo Hlevew &yrar Flave
(C) Migrated (D) Mutated
@Lb uurks Hleve wrHoUul L Hlena

(E) Answer not known
denL Ggflwefcrensd

61. Any technological application that use biological systems living
organisms or derivatives thereof to make or modify products or
processes for specific use
GO L nweturt ghaETer surfliiyser Sdag Gewdpampsamer o (Heulss
Sowg LIHHwumwss 2ulflwd mwiysar aurpbd o Wllambsdr oDog
‘siganr afls Carampdsears LweaTURSFUIUGHL eThsbleurm Gsmpldmp

LHUGSTLITL_M@GD ?
(A) IUCN (B) ICBN
&”” UNCBD (D) ASPB

(E) - Answer not known
cllenL Qg flweleena

62. In which crop ovules, the regeneration of somatic embryos were
carried out by P. Maheshwari and N.S. Rangasamy?
Spanamb kg UWE Gossddlmig 4. wGsaveufl whmib erer.erev. FrisFTLS

GrELIGUTEET 2 L e God smasamer 2 (heunsdlen

(A) Sapota ovules (B) Grape ovules
FUGUTL LT GHeab Srriens Gewsld

(C) Apple ovules \V Citrus ovules
2 TR [ R XA : SILrey @asLb

(E) Answer not known
allenL. Ggfluwaiene
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63. Which of the following plant cells show totipotency?
Qemeupd Sreur Qedaalle argy pp euatisdl yopenas ar’ Hdpg ?

(A) Cork cells Weristem

&S LFaeT : &G e — (Guleveltd)
(C) Sieve tube cell (D) Xylem vessels
gL GLpmi Qg FVLD SHEDEHET

(E) Answer not known
ellent Qaflwaldena
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64. Match the following :
Spaam_cupean QUMHHSE :
Column A
UGS <
(a) Totipotency 1.

P 2S5GSHmen

(b) Dedifferentiation 2.
Gougiumg psee
(c) | Explant | 3.
Ay
“{d) Differentiation 4,
Cagurhpisa

L@ M © (d
w3 1 4
B) 1 3 2
€ 2 1 4
D) 4 2 3
(E) Answer not known
cflenL GgRwalcrena

R ™ BTSN )
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Column B

LGS

Reversion of mature cells into
meristem

wAlitbs Cad Barn <y &@sdseuns
DTS EV :
Biochemical and structural
changes of cells

Qedasatien 2 u4fl Geudwe whmd
Senldued wrHpd

Properties of living cells develop
into entire plant

WS STEUITE GUETTS T ly LI
o Wlmerar Glae

"Selected plant tissue transferred

to culture medium
aueniiiy  eanssdnE  CemblsBss
graurg gl rHHISD



65. The importance of meristem culture for developing the plants/
crops 1s

S&EsHe earity, e ety Qgmfldopl usHd SpaTEmid eTaucUMSE
TIGUBIEEET 2 (Heuld@elsh@ pasfwusgeud Qubdpg

&
\X with virus free plants

66.

(8)
(©
(D)

(E)

aeuren Ggmhitcerm sneurmkisar

with higher yield

2188 LeGH 2. (HeuraSiE

with production of drought tolerant plants
uPLHF STE@ED sreurts USITGET 2 (HeUTss
with increase the plant height
greugisafler 2 wirsens sfaflsEs

Answer not known
clent GgMwaeldenc

Stem cells can differentiate into only a few cells such as lymphoid or
myeloid cells is called

@@L Qeivgsar bumifp dog ewlamdl Qsdser aaliub Heo
Qedvseama wCHGL GCaugu@etpar

(A)

&

®)

Unipotent ' (B) Multipotent

gham O Mibss| L@ pHP& aumibss
Oligopotent (D) Totipotent

@Car Yhod Mibss) , W@ OO uMiBSS)

Answer not known
adlen Ggflusicrana
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67. Name the stress hormone in relation with stomatal closure

Gmsswrer (sreuy spH&dl) (stress) Qusdulen Beowsmmer pHausHE
SMTTDTEHE T ?

(A) Hydrochloric acid (B) Nitric acid

aanl Crré ACermilé ydleid bl jlab
(C) Sulfuric acid (DY Abscisic Acid

s fé bl Sitedledls bl

(E) Answer not known
eflenL Qgflweidend

68. Which one of the fc;llowing statements is wrong?
&Cy Gar@ésiiuc (erer spmsaild seummar ey 6rg ?

(A) Cyanobacteria are also called Blue green algae
swarm ungefungser Fou usbuTlaer eramm SienpdsliLBEeaiar

(B) Golden algae are also called desmids
sie Bpliurdlsdr QLevllH&er erey enpdsliLBEerner

Eubacteria are also called False bacteria
wurse lursser Gurellwrer urdeflur erateytd BiewpssiuRSammar

(D) Phycomycetes are also called algal Fungi
@LSCsTan & ev LT L Ehanaadr erammid SapdstiuBSermen

(E) Answer not known
aﬁ]am_'@g,rﬂu_s@ﬂd)ma)
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69. A typical Gene-gun is suitable for
LGurelevl igd (wFuam Grunsdl) eaghE QUTHSSLLTEIZ ?

(A)

disarming pathogen vectors
Snashp Crmis srrafisens@s sradls sLgdladr

@/ transformation of plant cell

©

D)

(E)

sreuy @edsemaer wrHBLeLDSSED

constructing recombinant DNA by joining with vectors
gmudls  sLsHeErLer  @eenpgs  wmenlgaae; DNA  apeu
2 (HEUME(GHS®

DNA Finger printing

‘DNA eflern eQpéd — vidley

Answer not known
cllenL. QzMweildrensy

70. An analysis of chromosomal DNA ﬁsing the southern hybridization '
technique does not use
ggiren solidannrsad Gsmilaml u gpeapewn LwuauGsgib &GCrrGuwrGsmd
u@Lumielled @& uwearuhissuubheudaeancy

(A)

(©)

(E)

~ Electrophoresis (B) Blotting
Wemesrmhllfiy GHNQuGHLIY
Autoradiography \ﬂr PCR
grefwkg sdfluss uLGohHioy PCR

Answer ﬁot known
cllenL QzRlweildenc
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71. The following enzyme recognise N6 position of the adenine in the
DNA sequence GATC.

Qereumpd Aprdl GATC eenp DNA aufiowslier iqevanaflar N6 Hanevenw
sEmeTiSng. @& wng erenm SHerLHl ?

(A) Methylase @{ Dam methylase
QS Caav Lmb QwsGaen

(C) Ligase (D) EcokI methylase
aaGsen Ecokl QussGaen

(E) Answer not known
sllenL Gzilwaellerena

72. Which one of the following is not a feature of the Plasmids?

Demeu(meuateubilay ergy) LAeTmevLil g6 LT @ ?
(A) Transferable . Single-stranded

IHDSSESS] ' gHop Qe
(C) Independent replication (D) Circular structure
FWLTS QUEHESOE®LIG iy WIS UL Benliy

(E) Answer not known
cflenL Qg flueidena
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73.

74.

Select the criterion for DNA Fragments movement in agarose gel
during gel electophoresis

By Verampdfssdar Gurg =isGrad Guusdar Bs DNA gan@sar
BaeugphaTear sereGarend Gsirey Clgul

The smaller the Fragment size, the farther it moves
APl siarey Ham{HseT s b @b pardlenpar

(B) Positively charged Fragments move to farther end

Crirfleraentd 2 e w gamhser Was Garanveiiguerer (penemndd@, Ha(Hb

(C) Negatively charged Fragments do not move
adnfleraeno 2 el W HEMH&SET bseusdlerene)

(D): The larger the Fragment size, the farther it moves
Quilwere| gawhHseT DHe b @LID psrdemen

(E) Answer not known
allenL GQgflweildene

Name the bacteria that are used for the production of an antibiotic
‘mitomycin’.

Epssam Cusyflumelldy g gatm “ewl’ GLrewslen” erarm HmiaTeuilT
Casresilenw 2 pusd Qeiidlms)

(A)” Streptomyces caespitosus
e QruGLrenwdlemr srevtaGLresn

(B) Streptomyces erythreus
el GruGLrenwéler erflgfluen

(C) Streptomyces griseus
avl_GrtCLrenwdler Henydluiev

(D) Streptomyces virginae

e QG renwéler ol Fedlaflum

(E) Answer not known
 eflen @gflweidena
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75.

76.

Single cell protein broadly refers to the following
gp@p QFd Lrsb urkhs lerelld Wereumeuaaunenns &DlsSHng)
(A) Feed grade (B) Food grade
Seuar SrLb 2 GwTEY SILb
(C) Food biomass Microbial biomass
o antey 2 wilruCummaT Hlaramiuilr 2 udif
(E) Answer not known
aften Gsfweilcvaned
Choose the correct fermentation condition in the production of
Vitamin Big.
avaul Lifler D12 2 pugsduld sflurer Qprdssd bHawmuvsmas QsMey
Qalweyd
(A) pH 7 for 45 hours at 30°C aerobic
pH 7'& 45 Gerd 30°C & gGrmis Henewudied
‘% pH 6 to 7.7 for 2 days at 26-28°C aerobic
pH6 - 7.7 & 2 priger 26-28°C & gCqr9s Hleveuded
(C) pH 7 for 33 hours at 30°C aerobic
pH 7 & 33 Cprw 30°C & gGrmis Heveude
(D) pH 6.0 to 7.5 for 4 days at 28-30°C aerobic
pH 6.0 to 7.5 & 4 prser 28-30°C gCrmis Beneoufa
(E) Answer not known '

eflenL QgMwueiidane
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717.

78.

When salinity becomes very high, the plant cells performs two

important roles such as
o liygpanenw s  ofsors  @me@wGurg, smey dgdsd  @Qrear®
wéSuoner Laflsalld FHUGATDET, Sieeuser

(A) Produce more protein and synthesize hard cellwall.
<8s s 2 husH wHnb sgear dedseauamy Gsrhmelsse
\{ﬂ( Maintain osmatic balance and protect enzyme metabolism.
saugp® wreud soflaew Guanizsd whHmbd Cprdsafar Gewaluemel

UMGISTULE

(C) Reduce metabolism and produce more enzymes.
2 | pEswalun @Gepliy wHmb ds derdsmer 2 pusd CFuieug

(D) Release more water vapour and reduced enzyme actions.
<fls  Borell 2 push Csueug womb COprdsefesr CQewudwenas
G IR

(E) Answer not known
eflenL QgAlweiidane

A protein synthesized in Bacillus thuringiensis in BT cotton to
combat insect is called

Spsarap ygsw BT umsdle (wruspworpplul L) e dmer ypsseamer
SN&ESE 2 (meursasLLBHEng).

Crystal protein (B) Aphid protein

Lig& LTS DfeceU(H LTS
(C) Enzyme protein ' (D) Poly protein

QBT LD uredl Yrsid

(E) Answer not known
efen. Asflweiicvena
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79. Monoclonal antibody are produced by one type of immune cell which
are all clones of a unique.
CuorGenr&Gerrandd gy emgumgser ¢ euans CrrOwdiiy o uijeaméserrd
e Husd CQewiu@dlamner. Simea aoaTsgbd sSallsgeunna GGaTasar

erehTL
Parent cell (B) Body cell
QupCorir Qe oL Qe

(C) Subsidiary cell (D) Human tissue
glenesr Qeed wally Qad '

(E) Answer not known
eltenL Qgflweidene

80. Which one of the following Laboratory discovered “interferon
alfa-2b” antiviral drug?
Spsse gm lassded @a@uiQurrer alfa-2b eraém eveugev Crmu
aAily w@HHG s@THRUGGESILCL ). ’ ’

(A) Charles Neymar (B) Charles Correa
gnieen QBT gmireveiv Gamilwim
Charles Weissmann (D) Charles Babbage
Frieven @euulevGuer ‘ gmireve. urGug

(E) Answer not known
allenl. Ggflualdena

81. According to 2011 census report, the total number of scheduled
tribes in Tamil Nadu is

2011 wéser Ggres sansQe@Uliean ug SOPHTLIGH UMD LI
LGl sepsnigeile sfluner Crss eamamsams ereucueay ?

W 37 B) 36

(C) 38 . - (D) 27

(E) Answer not known
clenL GQaflwefcrana
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82. Most of the hill tribes followed their traditional occupation is
Quemburere weaulars UkiGseta SiglumLg Azmble

Honey Collection (B) Seeds collection

Czen Cesllgse Mengsar Caafssa
(C) Raw drug collection (D) Wood collection

mHHEL Qurplser Caafgsen slanLser Gaaflgged

(E) Answer not known
aflen GQgRweildene

83. In Tamil Nadu; particularly the Malai Malasar tribe community

living in the hills of
SBPBI g @GHLIUTE e WEOFTT LPRIGY FUps WESHET eThg weneulled
cudl s mmisar.
‘% Anaimalai (B) Mundanthurai sanctuary
<, HEATLOHEL . (PSRTL_BSIENT FTERTITEOWID
(C) Sirumalai (D) Palani
Simineney LLpetl

(E) Answer not known
ellen Ggfweildena
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84. The first book on Indian Ethnobotany is
GQidu @ens sreureliud upHlu (PSH USSED erg ?
A Glimpse of Indian Ethnobotany
Prdu Gempgreuresiweden g LTTen6
(B) Endemic medicine of India
G pgwnellen o eTEmi LDHSSHIGL STUTEISHET
(C) Dictionary of economic product of India
@rdureiler Aurmerngry swrfliysealler sisyTdl
(D) Raw drugs of India
@pHwureilen o drpnl B sreuy WHBSISHET

(E) Answer not known
alen Qgflueidanc

85. The revised name of World Wildlife Fund 1s
2 ws earelong Aduler yHw Quuir

(A) World Fund for Natural Resources

@upens cueTRISER&ESTRT 2 s Hlf

¥ World-wide Fund for Nature

Qupemassarer 2 agaredu Hi&

(C) World Wild Fund

2 a8 euanellaniEgaeT Hls

(D) - World Wide Fund for Conservation

ungsTUILSETT 2 ogernedlul Kl

(E) Answer not known
eflen Qgflwefdena
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86. The animal is depicted in the logo of WWF is
@upensts unganii BiFwugdlen Serarsdler @L1b GupmieTer el

\9/ Panda (B) Snow Bear
LI messTLT vafl&EEyg
(C) African Elephant (D) Rhinoceros
2U9A&Es wrener &Mair LSl (H&LD

(E) Answer not known
allenL. Wgfweildwene

87. The conservation of traditional crop varieties by traditional

" agricultural system is
urgouilyu efeugmu wenpulld LT cuemEEmETU UNGISASSEH CTeTLF)

On-farm Conservation (B) Home Garden Conservation
LeTanarTulled LINGIETSSE AL (s CasmliL urgsTiy

(C) Botanic Gardens ' (D) Agro forest
sreurediuc) LmisT Geuarmair &R

(E) Answer not known
e Qgflwelldrana

88. The entire ecosystem conserved légally by conservation laws called
uTUDSSUUL L &TLOU ugdamer sl sdldn ppatd FeT (Lp(pendwiret
2 Uil ST OSMSLLD UTFHETEEGLD (P

y/ Protected areas (B) Off-site conservation
: ungaréasiul L ugd Qeuefl eueTisamiy
(C) Botanic Garden (D) Germplasm
SmeuredluIch LysisT ' QerbifeTraid

(E) Answer not known
adlenL GzMweildene
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89. Which of the following is increased risk in maintaining trade

secrets?
D wisss reflunsmert urmwiiudld ods LS
o _GITETG).
(A) Buyer (B) Seller
GUITTAI G LIGU T el HLuenEsTIWIMEIFT
M Large proportion of research (D) Producer
g rrsSluer GumbLIES) gwimilaumen

(E) Answer not known
cflenL. Qsflwailcrene

90. A grant of rights to exclude others from making, using or selling

is
Ameny 2 (BeUTHEGSH, LUWHTLHSHSH Hdeg dpumear GaiieudSmhsl
clws@Geugparer o fennsener euphi@oug S SLD.
(A) Trade Patent
QUTSSHD asmriyflepwo
(C) Buyer (D) Seller
GUITTAIGLi6U T el HuenetumeT(

(E) Answer not known
eflenL. Gsflweiidrene
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91. A United Nations Conference on Environment and development
held in the year 1992 at

apméGpd whnn Cuburh Ghss gsdu priselear wrerh 1992 adg

BenL_GlLHmg,
Brazil (B) India
GGrae GpHum
(C) China (D) Cuba
Seorm Sy

(E) Answer not known
ellen Qgflwedeency

92. The phenomenon of biological transformation of organic compound
by living organisms is
o Wremiigetred  sMwCsiwsdar o ul@flud wrppsder Hlapey @eusumm

sl pssliubhdng
j Biodegradation (B) Pollution
o2 Wflwuré Heangemen Wr&EUT(H
(C) Bioethics (D) Biotransduction

2 ulrQEMH 2 WM sLgHe

(E) Answer not known
eflenL Gzflueidend
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93. Cellulose i1s naturally synthesized in plant cells and chemically
they are
QeogiGamen  gsraugmsealld  @Qubeaswurs opusd GeowiLGEpg,
G eneusaian Ceudlwa QgrEd

Polymer (B) Solvent
uredlo i SENTLILITET
(C) Macromolecules (D) Aldehyde group
- CuaGyrepadanmser  eeamanl GgmEuy

(E) Answer not known
eflenL GgMweildens

94. Pick up the correct reaction of hydrolysis of cellulose.
Qemeupeuameupmier  QeogiGoreller sflwmear  Srrhu@gly  swemuTeni_
Carplsh&s.

(A) . (CGHIOOS)H + HzSO4 +2H20 — Clel].OG
\(p/(cﬁHlOOs)n +H,50, + Hy0 - C3Hy,04,
(C) (CeHy05)+H,S0, + HyO — CppHye04y
(D) (CeH;005), + HySO, +Hy0 — CeH, 04

(E) Answer not known
eflenL GgMlwedeency

269-BOTANY 54



95.

96.

The overall reactions of photosynthesis 1s
2 WMl geflFCaismauler U HQwLTEs elanarsblsmi
(A) 3H,0+ Light —» 3H, +60,

SHQO + @Gfﬂ - 3H2 + 602

(B) 12H,0+ Light — 6H, + 60,
12H,0 +gafl - 6H, + 60,

v(ef 12H,0 + Light — 12H, + 60,

12H,0 +gefl - 12H, + 60,

(D) 6H,0+Light —12H, + 30,

(E) Answer not known
aten QgMweildena

Biophotolysis is the production of
2 WAl gefliiLgliy eremugy @ser 2. HuSSH SLED

(A) Hydrogen Peroxide Mydrogen
@l remer GurTEansH @[ EehT
(C) Oxygen (D) Carbon-di-oxide
S, &erdlspetm STTLIET L. Yy &enen(H

(E) Answer not known
" allenL Ggfluaidehe
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97. Theme of social Forestry is
Fepg sripisaflen smUGUTHET eTeLIg)

(A) Protection from fire
Sulledmhg) ungsTLIL

(B) Combining agriculture with forestry
cuaSGIeDUL 6l elaugmubeng @)emeanrssa

M Greening of the mind

LIS L&KW WUNEEGG

(D) Deforestation
-4, (I TN

(E) Answer not knowﬂ
sllenL QzNweiNdenen

98. Name the Fungi used in the production of ethanol.
gt 2 HusHé@ LLTURSSLUGDL LLEHmF

(A) Albugo Sp. (B) Cercospora Sp.
<ioyGar Anderd QerGamevCumyr & hlerd
(C) Puccinia Sp. M Sacchromyces Cerevisiae
usfaflur Aphend - g&sTGrTen e QaraicvGu

(E) Answer not known
slilenL AgMweilcane

99, Agricultural waste are consider as resources.
clleugmus sflajsar cueThISaTTSES: S(HSUILHETDET.
( Bio energy - (B) Solar energy
2 19T < Hm & 554
(C) Wind energy (D) Hydro energy
STHOI 2 HOD . Bir b

(E) Answer not known
ellenL Cgflweilcrane
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100. The effect involved in the conversion of solar energy into electrical

energy
G&flw s&deow et Y HpoTs WIHHIEIG eflleneTay.
(A) Photosynthetic 7 Photo Voltaic Effect
qetlEGaisans yevasliuL Werampss cllenerey
(C) Kinetic Energy (D) Tyndall Effect
Buds <y Hme enLaiTLmed ellenarey
(E) Answer not known

efen Agflweildena

" 101. Vermicompost has the following advantages over chemical fertilizers
WERTLI(p 2T JeETWen e pdmg L Yemamh hearawsmerd Clamear(erearsg

N4
(B)
©)

(D)

(E)

Restores Microbial Population
niargmudisatien eramafismsmw BLOLBHESHDg

Restores Carbon di oxide

STUeT el psanFaml B CLHSSID
Restores Freezing Condition
2.anpuall Haaamu B GLHssaib
Restores Drought

aupl fleow S s

Answer not known
alenL Agflweildens
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102. Identify light rays are blocked by the ozone layer
@Garen LLssTD aThs peaflGadisd sHéaslILHUMmS DS

\y( UV-B and UV-C (B) UV-C and UV-A
UV-B vpgw UV-C UV-C wpms UV-A
(C) UV-Band UV-A (D) UV-A and IR
UV-B ovppuwUV-A UV-A vpgw IR

(E) Answer not known
dien Qaflweicrena

103. How-do green jobs help in restoring the quality of the environment

defined by

&hnFGwellar etenes W QALBHLILSD usew Coumeoser ereubmler epedid
2 geydlenper ?

(A) IUPAC ,;B(UNEP

(C) IUCN (D) BSI

(E) Answer not known
cllen Qgflwalcrena

104. Trickling Filters most commonly used in
FPOMID eugsliguiler sHuisgieud

(A) Aerobic treatment (B) Tertiary treatment
SETHMIETET (pany ' epepmb Henew SHflsens
(C) Primary treatment Secondary treatment

poarenn Slsms GramLmw e Hflsms

(E) Answer not known
eflen Qg flweidrenay
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105.

106.

How can we consider dilution factor in adsorption isotherm?
2 Migraid s Qeuingdad Brsg Cum@b srrarlenu BID eTeleUNm &IHSTLD?

Ay C,=K,xC C,=K,xC
© C,=K,xC D) C, =K, xC

(E) Answer not known
cllen Qzflwelcrena

The United Nations Conference on Environment and Development
held at which place?
sHmEGWe whpb Cobur® GNss medu Brpseller LIl ks G s
penL_GAupHDg)
(A) London from 5 to 7 May, 1993

ewearLem, H-7 G, 1993

(B) - Tokyo from 7 to 15.March, 1992 -
GLmsGurm, 7-15 wrig, 1992

(C) New Delhi from 3 to 14 July, 1992
yaidead, 3-14 gOene, 1992

Rio De Janeiro from 3 to 14 June, 1992
NG g geflGyr 3-14 syoe, 1992

(E) Answer not known
fenL Gzflueidene
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107. The sources of marine pollution are
GG LOT&GLIML g 60T <4, & M ITII&ET

(A) Photochemical smog (B) Power station
gafl GCoudlullwd yeans e Hlaneowid

( Sewage sludge (D) Automobile workshop
sifiey B Gam GurlLmit eurgen L Lem

- (E) Answer not known
dflenL Qgflweldana

108. Match the following ;

QuUTmHSSHIS
Name of River Pollutants
pélaeflen Guwim r&UHSS a6

(a) Jamuna - 1. Sugar industries
so(LpesT . ‘ giibseny QgmilHarana

(b) Suwao - 2. Power station
&Geur et Blevawuwith

(¢) Godawari - 3. DDT
Cangmeud Ig.lg Lo

(d) Hoogly ' - 4.  Paper mills
angefl STHS YOOEHET

(@ ®m (@© (@

' \y!f 3 1 4 2
B) 2 3 1
€)1 2 4
D) 3 2 1

(E) Answer not known

sllen Qgfweidene

RN L YN
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109. The soil suitable for Pines and Junipers is
eorie WHmith Mefllifey WIRGE alaTeughE DD LT

\y( Uranium rich soil

yCreftwb flenphs e

(B) Potassium rich soil
QuriLrflub flesphs wekr
(C) Sulphur rich soil
spsa> Heopps wan
(D} Humus rich soil
wi fw 555 Hlenbs Wwe

(E) Answer not known
eflen Qzflweicenc

110. The percentage of carbon di oxide content in atmosphere 1s
audfloamisdld smiuar-aL - s&meau ereucame] F&eHASLD @) (HSESW ?
0.04% (B) 0.07%
(©) 0.03% (D) 3%

(E) Answer not known
cllenL. Ggfweidana

111. An expression of population is the production of new individuals is
expressed by .
" @pe sray Qsraslear Qeefluiur® aang ydw sefl graugmsaier abg
2 pusdured Qeuefliu@ssunGHng.

(A) Life time (B) Mortality
- aumpsens G- - @noy
( Natality (D) Cybernetic model

oy eeuiT@ply & wrdh

(E) Answer not known
alenL QsRwefcency

61 269-BOTANY
[Turn over



112. Find the hotspot rich in endemic species in India.
@ndureiles o eter odmEET sreuy @emnisdr Hepphs UdeuaMmEamEMmaT

e HluieyLd.

(A) Eastern Ghats (B) Himalayas
Fpé&@s QgTLirss bavasdr @uwwened Cgrui

(CYf Western Ghats (D) Andaman Island
Cuh@s QFTLiTEd wenaser BT o seT

(E) Answer not known
cllenL Qafueidene

113. The ecologist grouped the vegetation under physiognomic
QACursenlls S eahs sHpFGLe APlesT greurs Qedloeaus Qsnam()

QUIBGITIT ?

(A Odum Humboldt
LD ) ) e GuimeL.

(C) Swamy (D) Khosla
SeuirLdl Cangam

(E) Answer not known
eflenL Qgflweicdena
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114. Which forests are also referred to as ‘Monsoon Forests’?
ThES STHSET Lheu wend GTH&ET eratm GHUGLULGHener?

Tropical Deciduous Forests
Qeuliu waT e @eveudi sm{Hgser

(B) Mountain Forests

LNy SrHiEeT

(C) 'Tropical Rain Forests

Qeuliu T WeLpd STHSET

(D) Mangrove Forests
sgiliyfles sThsar

(E) Answer not known
e Gzfluaierene

115. Significance of ecosystem is
G weam_sder (psdluggieuld

(A) Flow of Energy (B) Cycling of material
<SLHOE gL L 1D Qummer sipHé
\M Both (A) and (B) (D) Bio energy
~ (A) wpgib (B) ramGun - 2l hoed

(E) Answer not known
eflenL. @gflwaeilcency

116. The most recently discovered ecosystem is
SHELWSS D st Hluriur L @GLed e

(A) Tundra _ \y Crater

T 06 UGS (Lemigm) LaTemy L@$
(C) Iceberg (D) Vent
uefliuTenm _ STHEmI L b

(E) Answer not known
aflanL Ggfliweidena
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117. Which theory states the diversity of a community is determined by
the amount of energy flowing through food web?
R(H FpESEeT LaTIpESSaTanD 2 ame| euaauiled Lmyb HDeien eTanesd
COarar®h Srwralssiubmdpg e anss Camur@ sandng ?
(A) Stability Time Hypothesis
Hesawggereno Gry Carun®p/smgGamer
(B) Predation Theory

Caul_ e wnhd Camum®

(C) Climate Theory

sreflene GamLm)

. Productivity Theory
o hugsHsHper Carcump

(E) Answer not known
aflenL GgMwelldrene

118. Name the largest terrestrial community
Weeumeuanaupiled ergl WsLIGUMAW Hleotiurliy sapsomEL.

\y/ Biome (B) Biosphere
o2 Nwss 2 Wir&Gasmend
(C) Biomass (D) Ecosystem
o Wirt@ummer GhHlana weRT_aLb

(E) Answer not known
fep Qsfwueiidens
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119. Who first described the terms “Autecology” and “Synecology”?
gh Gpheaullud vpnib EmlGF GpBleaulud adam Cerdam aileufiggaur

(A) Tansley
Lmretrd el

(C) Karl Mobius

&My rYws

(E) Answer not known
efilenL Qgflweicdene

Schroter

uQEmirl_ L

(D) Alexander

Q& mesTLIT

120. Ecology is the science treats the organism in relation to _
2 is@elwd ererlg 2 uWflemseller ————  Qsruiry  updlw

gPladlwene UGLIUGTEL.

(A) Pollution Ecology
OT& GLpedluied

'\9/ Environmént

FHDISESHP
(E) Answer not known
allenL Qgflweidena

65

(B) Biodiversity
vdg il Qu(pssd

(D) Evolution”

uflemTmOWb
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121. Match List I (types of terpenes) with List II (their number of carbon
atoms and isoprene residues) and find the correct answer.

ulgwd I (Qurneaseflenr eumssedn ulgued 11 (eupdler smiuen

Sgnbsaflenr  cremanilEeans  HmID

oGerilflar  Apflyy) dHwepepl

Qurmsdl sflurar Lfereus EairLMlweyb.

List I
L igued |

(a) Monoterpenes 1.

CurGarr@ il ereu
(b) Sesquiterpenes 2.
QecudQmYeren
(¢) Diterpenes 3.
L QL e
(d) Triterpenes 4.
t‘_ml;r@l_r'nﬁl_drrdu
(e) Tetraterpenes 5.
@ prGmQeeiv
@ o ©© @ @
2 1 3 5]
(B) 2 1 5 3
©) 2 5 1 3
D) 1 2 3 5

"(E) Answer not known
allenL Qgilweilcoeney

NN

269-BOTANY 66

List I1

utgwier 11

Consist of 15-C atoms or three
1soprene residues

15 smiuer SigmsseaT Do  epeTn
sCamifiear i@ CamamLg

Consist of 10-C atoms or two

- 1soprene residues

10 arfruer sigmssear sdwg Qe
pGamifler @ CamamLg

Consist of 20-C atoms or four
isoprene residues

20 smiuen Sigmisad aci)a)gj.(r_srrsiﬂ@
oGemifler =@ Caram g

Consist of 40-C atoms or eight
isoprene residues

40 smiuer SE@SET DD TLE
saGemifer i@ Csmeamm g

Consist of 30-C atoms or six
1soprene residues.

30 sniuer oeEmEsET HPHOFH M
aGsmilflen @ CararTLg



122. The common occurrence of alkaloid substances present in the

Nymphaceae and Papaveraceae is
BoCuCuedl  wHmd uwvdureGred (GHLUS Freurhseild Qurgleurss
snaiiu(pib Hosomi@ Ceudlubummer

(A) Pilocarpine

anuGmsTien LIS

(B) Quinolizine
GWCanmellengen

w Benzyl tetra hydroisoquinoline
- Quendled QL gm enanl Gy gGam@Geanmanaven

(D) Ephedrine

erllu_fer

(E) Answer not known
e Qgflwelldvena

123. Chemical Formula for Arachidic acid
SpnEflieé sflasder Cauduilwed @ ST

(A) CH,4(CH,), COOH (B) CH,(CH,), COOH
&7’ CH;(CH,),; COOH . (D) CH,4(CH,),; COOH

(E) Answer not known
ean QgRweildvenc
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124. The enzyme catalysing break-down without addition of water

molecule are called:
Bir ppesandlen gaemuleandl ellenarysan el Qprs

Oxidoreductase (B) Lyases

2&ACLmGrLsGLav BLFE
(C) Hydrolases (D) Ligases

gL CrrGaeuser NCsevger

(E) Answer not known
afen Gsflweidhana

125. Crassulacean Acid Metabolism (CAM) is found in following planfs
AyraCafluer sifle aeaifleg (CAM) wrppb @b eueaswurear sreuphsetld

sremuBE D).

(A) Succulents (B) Xerophytes
FGLILMHM STeUTHRIGET - euerit flev FmeurBIGET

(C) Plant grow in dry condition  (P#’All the above
greuniseT 2 6m Hleneufldh auam(mLb Cuhaadliu Dienersgb

(E) Answer not known
cllen Gaflweldana

126. Protein part of the enzyme 1s called
Aprdlden Lrs UGS g

(A) Prosthetic group {B/Apoenzyme
yCrmevgiqé & SILGUT erestanaid

(C) Holo enzyme , (D) Exo enzyme
CanrGeon ereirengib &Cam eramenald

(E) Answer not known
alenL Qgflueldana
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127. First carbon atom of a glucose molecule has = 0, now the molecule

named
2 GEpéaTa apwsambler apsd amiuear sgneid = 0, QmaEbCurg, Qbs
ELpGLG g M)
(A) Galactose (B) Lactose
Caes&Gme Cowé&GLmeiy
M Fructose (D) Aldose
Gr&CGLmev ' <0G

(E) Answer not known
eflent_ WgAweildwvency

128. Electron transport system and oxidative phosphorylation are

uncoupled by
&l gren &L Ssew srifledl wHmib 2 sfmGarhn umevGuL CS&rruu pepaefley
SHUILS aarrljamﬂu_lrras MGG

\% 2,4 - D1n1trophenol

2, 4 — e e GrmQemme

(B) Atractylic acid and bongkrekic acid
SALTTHIg.60l& 2iblevd WHmb Gunmasa%]@r;e‘,]a; S Hlevib

(C) Amytal and rotenone
Saw Lrd wpnib GrrgGerren

(D) Antimycin - A
<pengemwdler - A

(E) Answer not known
ellent @z flweidenc
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129. Identify an enzyme can be breakdown the B-1-4-glycosidic bonds of
mucopeptide in bacterial cell wall
urslefwd Qedseauflgicier WwsCarulimyer p-1l-4-faasGaransiys
@eantienU glermgsal LwaTuGHb QABTSHeny L LTeTD HTems.

( Lysozyme (B) Protease
meGarensid HCyme Guieh

(C) Lipase _ (D) Amylase
aneGLIG 2 BGaen

(E) Answer not known
eflen Qpfwefdena

130. Usually this physiological cycle contains Cs-organic acids which
produce energy molecules and that cycle called
Quigeurs @is 2 HAswdlwd swhHfludled sriuea—3 smo blomiger <u,Hme
epusammaaers Comhmcilsdlerpet, @bs swphelenw .

\9( Kreb’s cycle (B) Glycolysis
e riey &wpmHél Senenasredl e
(C) Calvin cycle (D) Cscycle
srdailan sipHal | Cs &pfHé]

(E) Answer not known
ellen Gghlweldene
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131. Identify the succulent plant which is having Cs pathway in normal
condition, but when grows in saline condition, it will change over to
CAM pathway.

U

FslILIDMIETET  STeUFD  FTETIET  GWbleneuliad Cs swhHlews

Qasram@peterg, oigsreqd ey Hosded eaambCury Csb CAM
spH&NGEE ormuGipg, SpssaTLupdld  BASSTAUTE®S DALWIMETLD

STEIG.

(A) Albizia lebbeck
eieflur Qeoliug

(B) Mimosa pudica
awGwrenm YU ar

(©) Pithecolobium dulce

¥

(E)

19855 CaumAwn Leoeal

Mesemrvanthermum Crystallinum
Qued Nwrhbd N fflevredlard

Answer not known
ailen Qzflweildeana

132. Photolysis of water take place in the photosynthesis is
Brrh uEliy Bspey galsGsisasudar Cung el Gupib Hlapeiib

A)

PS-1

ofl =yenwLiy-I
\JP/?’S-II

(C)
(D)

(B)

gefl syenworiy-11

Both PS-I and PS-11
gefl sewiy-1 bppb gefl weony-II
Matrix of Chloroplast

awl GLrsremyflu Syeuld

Answer not known
cllen QgMweldena
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133. Recognize the photosynthetic bacteria from the followings:
Spssan_eupied palsCsrsms Gauiyw urseflureme SieLwWTeTDd Sras.

Rhodopseudomonas (B) Bacillus

CrrCLr@&CLrGurarmeu Guéleeiv
(C) Pseudomonas (D) Rhizobium

@&GLTGrere eyGamSwib

(E) Answer not known
eflen Ggsflweicrency

. 134. Chlorophyll . absorbed the Soret band  sometimes, which is

combination of colours such as
vsnsailahssat fAaoGprb GCsryl gafllsshapseamer 2 deuniEfeamar, @bs
aeflsaspen abs Hlomnisamer o arerL s&ng

(A)  Yellow red ,J?/Violet blue

bgpaar Heuliy . .eeuaLl. Heotd
(C) Violet red (D) Red yellow
el ety feitiy wgrge

(E) Answer not known
len. Cgfwelidvane

135. Identify the precursor for jasmonate synthesis in plants
sreuriseafies  mmevGuorlar.  Qgr@uussrar WaTGarmiyenul e Wmerd

&I &, . .

( Linolenic acid (B) Lauric acid
ANCarmedlé obleb wrfls odleid

(C) Palmitic acid ‘ (D) Oleic acid
LTI Igé Sidleod @dls sflow

(E) Answer not known
eflen Gafweleene
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136. The copper sulphate of lime water first used for Control Wheat Seed

infectious by
Cargyento eflepguienr Cpmi o (heureuens sHLILSHETE STOLT FOGUL WHMID
SeTanTTbL Saaeneuenw LwaTuhsSw sifleflwemert @eu.

(A) Knight (B) Singh
anmpL Sy
Dre isch (D) Mc Beth
ig Creig erbdl Quis

(E) Answer not known
aflen Qgfweildana

137. Abscisic acid is chemically classified under

138.

SLHE oublewn gt Ceufluummer glueLwbe @Bs euEleaus
FMiHES)

(A) Monoterpenes _ Me.squiterpenes
ComGesrmd i cireiv . AETOTF LA =) )

(C) Diterpenes (D) Triterpenes
LGl LY etren C_eng@ LT ebreiv

(E) Answer not known
cflent Qaflualdenc

Find out the name of amino acid involved in the nitrogen
metabolism . . .
@Bl R cuariflens wrhnsdhsrer llGeam ol Spsam_cupda eranal

(A) Dicarboxylic acid (B) Ascorbic acid
dL_sTTunésHedld oillab Sevasmidsd sl
Glutamic acid (D) Holo enzyme
GLMOE Sjblebd CanrGenm Qprdlser

(E) Answer not known
cllen QgRwaldenay
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139. Total number of amino acids constitute in the plant proteins are
smeu LrssHea o crer HblCarm & flepewrer cramanflsms

A) 24 (B) 16

wf 20 (D) 18

() Answer not known
dflen Qgflwelidane

140. The reduction of nitrate into nitrite is brought about by
Bl CrienL enpLanlLTss @G@nsatl uweatuhn Qnrg

( Nitrate reductase
LG fAlL&EGLei

(B) Nitrite reductase

anplangl fL&GL 6

(C)- Transaminase -
g Jrerau Bl Canen

(D) Aminotransferases
N GarmL_yrerae.o LGre

(E) Answer not known
eflenL. @Agiflweidheney
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141. Centrifugal direction in Cambium may clearly visible in

plants.
enow gl Hens CablAwusHed

142.

(B) Bauhinia rubiginosa
urdlaflur apAECarmenm
(C) Vitis sps
@auGliev sverdluiey
(D) Clemotis sps
Sermwonigev evtiellwan
(E) Answer not known
elenL Qgrlueildene
sameurdg@ey  HreugsHe
sresTULI(hieug
(A) Cork and Cortex

Boerhaavia diffusa
Cursi@anedwr QLidlysr

sreurrigefledy Yaoiu@mib.

are found in the cortical region of Convolulus. -

&Mi& WOHDILD STM_&60

\y/ Lacticiferous cannals

©

(D)

(K)

s fACLCrmey Caarden

Pith
g

Vascular system
surad@ait fevLid

Answer not known
elenL. QgMweildene
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143. Assertion [A] :

spm [A] :

Reason [R] :

sryewrd [R] :

In Bignonia, the cambium is normal in position
but abnormal in activity.

GsCamaflwredley, Cawlbubd  epsswrer @bl
2 remay, <armed CFwumige elsHursFiiu@ib.
Cambium produces secondary xylem and
secondary phloem, in some segments, much
greater amount of Vylem than of phloem and in
others vice-versa.

gmblwub @rarLmbd Hlee s woHpmb yGermuento
o (heumd@Sng; Heo @Lisaied YGearmuew &L fls
sl wLHML fo @Lisaid Cpiommrs 2 HusH
Qawding. . :

(A) [A]1is true and [R] is false
[A] #fl opammed [R] seumy
(B) [A] is false and [R] is true
. [A] seum q-%smr'rsb [R] &@
\V [A] and [R] are true, [R] is the correct explanation

of [A]

[A] vpmd [R] aM; [R] ereiug [A]@en sfwnen eferdsid
(D) [A] and [R] are true, [R] is not the correct explanation

of [A]

[A] wpmb [R] #M; [R] ererug [Aller sflwrer eflersan @daa

- (E) Answer not known
aflenL Qzflwelidrana
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144. Name the micro spherical crystals packed into the cell of masses
BeGamer Ugsmset e (pepawwb Blrbludrareans @eieunty spemb?

(A) Prismatic crystals Sand crystals
flevong s LigshigeT LDGTED L g & MhIgET
(C) Latex (D) Pruses
Gl L&ev S yeivenei

(E) Answer not known
clilenL. Qgilweildrene

145, Secondary growth takes place, due to the presence of
sreuriisefled, @rambd Hlene auarissl ergammed gbuBEmg ?

\W Cambium (B) Apical meristem
smblwh plafl Quflav b

(C) Intercalary meristem (D) Parenchyma
‘AL Hlena Gflevi b " LNTeTenEun LD

(E) Answer not known
cllen Qgflwellcrena
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146. Major part of annual rings are formed by
L& euemeTuhGat e GUHLLGHW 2 (heuTsEGeug T ?

(A) Autumn wood
@aoydlt st @ramLrb Bl e S enL &eT

(B) Heart wood

MUTD UMUBS &L &ET

(C) Sap wood

ST S &ET

\ﬂ( Spring wood

- uFbS ETe @rearLnb Hlave eFaEanl HeT

(E) Answer not known
eflen Qaflwelidena

'147. National durability to timbers obtdined from

@upasunear wLET ISSL L &EHdHE —— S &dpg!.
Extractive (B) Parenchyma
LA = LIMTGITenaLDIT

(C). Starch . (D) Crystals
GULITT&F LIg & hI& 6T

(E) Answer not known
ellen Gaflweideama

148. Find the plant possessing unilaccunar node from the following:
wyellons@ermt Crrh Garam®erer sreursand saamLMHiwieb.

(A) Azadirchta . (B) Aralium
BIFTIY JELT 2GreSlwitb

(C) Coriandrum (¥ Nerium
Camflwimeiia b ' Blwib

(E) Answer not known
sllenL Ggflwaidvena
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149. Which of the following types of stomata represents dicotyledons?
dereumid euens @arasgiener efg @malssae smeursdad KNgHudsdng

Y

(ii)
(iii)
(iv)
(A)

(B)

(€)

\)Bf

(E)

150. Dimorphic chloroplasts are found in

Ranunculaceous
pemen&Gavdl Wwev

Cruciferous
&HACLCren

Caryphyllaceous
CasMieGadwev

Gramineous
SlrmCandl wehv

(i) only

(1) wr @b

(1) and (i11) only

() wHmb (111) w Hibd
(1) and (iv) only

(1) wpmbd (1v) wC Hid
(1), (1) and (ii1) only

(1), (1) wHmw (111) LD

Answer not known
eflenL Qgflweldena

T(HLG LSBT SRE ahg sraursdd arariiuGidng ?

A)

(©)

(E)

Rice
<&

Wheat

Carglenn

Answer not known
eflenL Qgflueidens

ugarcane
&(HDL
(D) Sugar beet

FhE&gsamreudTatis &llpmhi@,
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151. The parenchymatous region between the main vascular cylinder and

the leaf trace is called
Qpgrer  eumev@GenT HABTLHEGDL, Qo suBsEGL Qe udgyérer

unrengnECi_L ey LGHenw ereueumm HenpdsGomib.
Mjeaf gap (B) Leaf trace

Genar @enL Gleuert @ane s
(C) Foliar trace (D) Vascular cylinder
Gl seup QUi @eomT SledlesrLit

(E) Answer not known
alilenL Qgflwelcrens

152. Name the cell that resembles kidney or dumbbell shaped and carry

out opening and closing mechanism in the stoma
Amibrs Bideg LIbu® euigeuld QT LHRID @eaeogemeruier oy wHmb

epLe Luripenpeny Qewdupsgind G g2
Guard cells (B) Subsidiary cells

urgiamiy Gad glenanr Cge
(C) Epidermal cells (D) Epithelial cells
GrLANQ L _fwer CFe aulbSallud Qad

(E) Answer not known
sflen Qg flwelicrency
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153. A specialized structure in C4 plants, where mesophyll cells are
clustered around the bundle sheath cells in a ring like structure
Ca gramiuseled, SCerld Qsdsar uamgd afsms avbdl @@ eumenud

@urra'ﬂg) LN 2 (HEUMEEGHLD. D& Grebres ?

(A) Csanatomy (B) CAM anatomy
Cs 2 éremeninliy CAM o_dremenioriy

( Kranz anatomy | (D) Hatch anatomy
fpmeney o eraTenioliyy anLF 2 eTeTenLoLIL

(E) Answer not known
eflenL Qaflwueiidama

154. Where do you find the Ribulose bisphosphate and Calvin cycle
enzymes in C; plants?

Cs gramiusale erg AyGordr WeGumduGur @b, srasilear  spH
GprdlaEnb o dreng)? . . .
(A) Mesophyll cells

BCesmler Qadvaset

(B) Bundle sheath cells
Cen 2 am Qadsger
@/ﬁ all green cells
Smansg LEamsBin Gedser
(D) In both bundle sheath and mesophyll cells
' BCemlled WHmb el e 2 ap Qedsar

(E) Answer not known
elenL. Ggflweldeana
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155. The condition of the entry of pollen tube through the funiculus or

integument is known as

@D ST DG GHR®D (P WaIHS euamswilar mepe Elane ereusumm

Sdluin g ?
Mesogamy
@ Geuall @enawrey
(C) Syngamy
gnl () @enemey
(E) Answer not known
eflenL Qgilweldena

(B) Porogamy

FIENET @)eneRTEy

(D) Chalazogamy
GD4E SHRYDISD

156. In Calotropis and orchids, the pollen cells of each pollen sac form a

characteristic mass called

TMHES wHpb UsLH HpF Csguied qealeurm wsIbst @UWBET WETHS

QeraEnd Hlanmeurear L &mer 2 el (PenD
\/:_follinium (B) Caudicle
Gueleftwib '

(C) Disc
s

(E) Answer not known
silen_ Gsfwaidena

GUTeL

(D) Exine
w&rHs QeuefluyemL

- 157. The gametophytic incompatibility in angiosperms is determined by

the ganotype of

< @péCumsvumbsafles CollbGLreau’ ys gaaunmn @ser dBamsssdHd

HremuisstinRdng).
Pollen
DEIHSSSIET
(C) Embryosac
& eu
(E) Answer not known
aflen Ggflweiideame
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(Ge
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158. Recognition and rejection reaction of sporophytic self-incompatibility

in angiosperms determined on

2} erAGuImev&L Tbget 6 e T&ETD WETHSSM ghHm&QETeTeugb,
Qeualigger@eneugid svCurGrmenui’ né geteurend wepuld @sear Lrlbd
B Qumdng.

(A) Ovwule of Female plant
Quam greurgdlen @esated

\M Surface of stigma

159.

G uiler ypuurlbd

(C) Inner line of stylar cells
G0 semigerm 2 U Ln Gad euflufed

(D) Egg and synergids
e wHmib Herredlsafle

(E) Answer not known
ellen_ Gzflweildwane

The exine coat of pollen grains possesses one or more thin places
known

wayhs gransefler Geusiiyenp ey g NsHE CupulL GQdediu
QL kigens s 2 miiy HHMuiuhiEpg ?

(A) Pollen tube ( erm pores
O&THS (LT ‘}’g’@@ SIDETHET

(C) Stomium (D) Pollinium
avGunrs Quernayuilyansaser Qumrelefwibd

(E) Answer not known
cilent Qsflwellcbaney
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160. Filiform apparatus occurs in
Wedlumin Qadaer ardled amerTiiLRE D ?

(A) Antipodals (B)
@elg CFoEET

(C) Tapetam
LUnSe b

(E) -Answer not known
fen Gsflueidena

161. PS I and PS II have absorption is below

Pollen grains
W&ETHS SIETHET

Synergids
AQarrelL_ehv

o _@rerng).

PS I womid PS I e gefl 2 figrsga
680 nm (B) 700 nm
(C) 710 nm (D) 770 nm
(E) Answeér not known
cllenL. Qgflwallcvena
162. The energy — transduction proteins are in
SHOD SLGGID LTSRIGHET —————— BENPESHEMLD

(A) Mitochondrial membrane
el CLrsrar_fud seua]

(BYyf Thylakoid membrane

@FGL&EETU( Feua]

(C) Chloroplast

L& Bl & et &L

(D) Ribosomes

engQurGambaer

(E) Answer not known
oflenL Ggflweiicoana
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163. Transfer of heat from a body at low temperature to a body at high
temperature:
GonHs GeuliuBlenauild o drer 21 efléd GEHg s Qautiuflawulicer o drer
2 Lg)i&@E Qeutiugens WwmHmiged
(A) 1s impossible
sT5SwnHog)
(B) 1s possible by keeping both the bodies in contact
LM 2 Ldsmaeru|ih aeuggds Qaramh @& srgdub
) 1s possible by doing some external work
Sl Geualliym Geuenavageners QFuiauges pped FmrgdlwwmELD.

(D) None of these.
@eupPler ggdldena

(E) Answer not known
eflen Qzflwelcrency

164. X-ray diffraction is a analytical technique for examining :
T&EGT  golifrhayel  eerug  piie]  Qeleusharer @@ LGUUTLSY

BLUIDAELD
(A»” Crystalline solid (B) Liquid
- SLwrar L& : Sra
(C) Powder (D) Gases
greir QUM &eT

(E) Answer not known
elen Qgflweldene
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165. Absorption is governed by the Beer-Lambert law :
2 Mgrasd di-wblui’ aps eldwund (st ggrd) Hlicudlsstiu@Eng ?

M I = Io107Bde (B) E=hc/A=hv
AL - Ap
A

(E) Answer not known
cllenL Ggflweldene

(C) AA= D) A=2d SinQ

166. Refractive index of a medium is given by the equation
- @ 2L ssdlen gafl aflwad @duit ) sweatn®h erarLigr

A) u=

© V=

wla QI

(E) Answer not known
eflenL Ggflweldena
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167. Consider the following statements:
Qesreu(md SidlGanssmer seueilu]miger
(1) Absorption of energy from the photon elevates the molecule to
an excited electronic state.
SGurtLmafley  @Qmps pHoere o Hlghaeug  pdmenn @b
2 penawren Neraray HlanwsE e wissdng

(1) The disappearance of substrate or appearance of product 1s
measured by spectrophotometry.
Sy pdsmy sramod Curaug ideg o pusdler Carpmd
@u&GE CrrsGumCLr@ol f gpad emellLuu@dng

(111) Circular dichorism measures interaction of polarized light
with chiral protein components. |
Ay yrssé smis@EsLe FueuluRssuut L geflufler QgrLiyseer
aul L en_Garflad emellBlmgy

Which of the above statements are correct in reference to
biophysical ways?

o 97 @uiHRuwed mgﬂa;mmas GSDugled Gm;pa;swn._ ahmgua;aﬂa) g
sflwnerg) ?

(A) () and (i)
(1) wppd (11)

(B) (il and (iii)
(ii) wopib (1)

(©) (@ and (i)

‘g(‘i) whmb (111)
(1), (11) and (111)

@), (1) wpmyo (111)
(E) Answer not known
sflenL Qgilwelcbenay

87 269-BOTANY
[Turn over



168. Atoms contains
DI EMGSHET TEHARTME Y, EHTF) ?

M Neutrons and Protons

Byl preser whmd YGTTL L Tesar
(B) Protons and Electrons

HErTLLmerser whmib sl rensar
(C) KElectrons only

TS L[Tel&ET WL (b
(D) Protons only

YOgmlLrer&eT i (Hib

(E) Answef not known
allenL. Qzflweldreney

169. The lowest energy level of a system is called
@@ sowlber Wass@mnbs hnd Ml erarig

(A) Excited state Ground state
2 Herswrer Hlene g1 Hlene

(C) Metastable state (D) Atomic energy
LTD&SFnigw Hlene : Slem <Hoe

(E) Answer not known
allenL Qgflweldena
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170. Chloroplast is a specialized photosynthetic organelle and its length
GarrGrmilerrevl eretugy e SApuy qallsCaidms 2 miy wHMID g6

OTLD ETENmIg) eTEUeUaTE ?

w’ (=5 umlong)

(=5 @wsGrmbld Herb)

(C) (=7 um long)

(= 7 ew&CrmbLLir Farib)

(E) Answer not known
cflent. Qaflweldens

171. Solar energy is the result of
&flu Sy opd ellenerey ereLg)

(A) Solar intensity
&M ﬁiaﬂm.b

Electromagnetic radiation

lersnbg Hlmwmene

(E) Answer not known
eflenL Ggflweiidene

(B) (=6 um long)
(= 6 epw&CrmSL Lt Berib)
(D) (=8 um long)

(= 8 aw&BrymbLLir Feribd)

(B) Radiant energy
sPMuss b

(D) Thermo nuclear reaction
Qeuriue g eflener

172. Radiation data for solar systems are often represented as
Ghu et o@wlyserssrar  sdieifs sy QuUEBLUTEIL  eTeUGUTM)

GHudnuGAng ?
A m kw/m?

Q7 k wh/m?

(E) Answer not known
cllenL Qgflwueilcency

(B) s kw/m?
(D) w kh/m?
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173. The concept of equivalences between mass and energy refers to the
physical principle establishing that measured quantity of energy (E)
is equivalent to measured quantity of mass is expressed by following
equation:

Benp&@b BHoEGD Qe ulorar soggeud eeTug, Sereill il
gpodlar erey (B) @ simelse sob aawas Hoeyd @QupQGud
Camcumyer ug, Hlepuear e mduner sweatur® eTeLS)
(&) E=mc®=(ma)d "~ (B) E=mc®=(ma)d

W E=mc?=(ma)d (D) E =zmc? = (ma).d

(E) Answer not known
elenL Ggiwelcrens

174. In Bioclogical systems the redox potential is defined pH7 of versus the

hydrogen electrode and partial pressure of hydrogen = ?
Beooure Grumsev Sper ereug 2ulfluidd ewiysetier * enaw e
Wlepenan HMID e yRer S(wWoshd plom =———2
(A) 3bar (B) 2 bar

3 uly 2 Ul
(C)y” 1 bar ' (D) 4 bar

1 utg 4 Uiy

(E) Answer not known
sllen Ggtlweldene

269-BOTANY - 90



175. Given the statistical abbreviation of CRD

Qarpssiuc parer o udi yerefudwelled ageamvssiuce. C.R.D aawuger
el fleungaid ereimen ?

(A) Cumulative Randomized design
U (HCwrss SrHm eulgeuambiLy

Completely Randomized design
@m@gm Erm g euenLory

(C) Control of Randomized design
sLOUUBSSUULL FIDD 6uigeuenoliy

(D) Critical Randomized design
wa&dw Som eugeuentoliy

(E) Answer not known
eltenL Qpflweildeana

176. The coefficient of correlation between yield of maize and fertilizers
excluding the effect of pesticides and manures is called
u&s  Qanded whmd 2 gsder emeareneus selisg  waaTFGETaTS 6
cllenerésas@ b, LyhsEEsGL Qe worar Ggrii @GamTsLhd

(A) Linear correlation Martial correlation
Crflwer Ggm_iry ' UGS Qgmiy

(C) Simple correlation (D) Positive correlation
erafl Qg Criroemm QAgriy

(E) Answer not known
elenL GQgflweidena
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177. The Regression equation of ¥ on x 1s in the form as
X @e y e eranenl 6| FweTUn(p eugeudsHd 2 dtarg

(A) Sy=Na+bix Mczmbx

(C) Sxy=aZx+bEx? (D) xc=a+by

(E) Answer not known
clen Gsflweidene

178. Coefficient of correlation between yield of maize and fertilizers

excluding, the effect of pesticides and manures is called:
w&sTECaTaTsHd WaEGDH WHNIDL 2 JhisEssE Bl Gu o drer QAsTLiY @awid,

LFfECardadadr whmb o grsefien elmere) oimPssriLBADS:

(A) Simple correlation (B) Multiple correlation
erafiu QgmLiry ua Qgmriy
M Partial correlation (D) Linear correlation
uGd Qamiy Crflwe Ggmiy

(E) Answer not known
eflenL Gsflweldenc

179. The numerical data of any character is referred to as
TS T(pSGIGHeNaT eTaT Hrey erem GO LILRH DS

(4 Central tendency .(B) Frequency .
aww CHIES 2 F @ eueir

(C) Variables (D) Variates
rdlser 7 _ rmSlng

(E) Answer not known
aleL Qsflwaiidrena
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180. Biostatistics is the study of

181.

2 Wiy ereflulwed erestuig) ubHMutr Lig Oy
(A) Data analysis
sre| L@GUuUmMiaeY

(B) -Correlation
QamLiry

JG,’ Data analysis and statistical reasoning

&7e] uGLuTiey wHnIb yeraludwd LEssey
(D) Significant value .

GO 556 wHliiy
(E) Answer not known

eflenL Qs flweiicena

Population ecology of man and man’s effects on the environment,
especially man’s effects on the biosphere and the implication of these
effects for man are called '

shmé @Gl wellger wHmb wellgrsefler wEsaT CFrems Gdlwd,
@fliuns 2 WifsCareargdler walgallar grésnb LHHD wvalsSIES @6
eflepemeysatles Fréawbd

(A) Eco system Ecology (B) Habitat Ecology
FHNIFGLPD G Lpedlwsed eumpall @Lpadlwich
Human Ecology (D) System Ecology
weflg @pedlued _ Sienoliy @Q@S]IUG'I')

(E) Answer not known
eflen Qgfiwaldena
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182. Niche represents
SmieumpaedlLtb ererLig

(A) Habitat
eumpal b

(B) Microhabitat

mier eumpedli_ib

\ﬁ{ Habitat as well as inter-relations

eumpeilL b wphmid e ullan Guiwimer 2 payser

(D) Habitat as well as climatic
eumpellLIb wHmiDd sreblane

(E) Answer not known.
ellenL Qgfueidena

183. The phenomenon of production of gametophyte directly from the
vegetative cells of the sporophyte without spore formation is called
Asg (=) ewGurigefler o (maumssd Haprod CurGrreul yer 21 @
Qedsefl_bimpgl, CaOl GLranul Lrerg Cphlanwirs o (meum@d Hlapss

(A) Apogamy Apospory
<StGunGsLH S0GumevGuml

(C) Embryogency (D) Parthinogenesis
eTAAGUIrQgafl unrrsSGenrblgefledlen

(E) Answer not known
‘ eflenL QzhlLicfhena
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184. In Bryophytes, the antheridial chamber opens outside by a small
opening called
RenyGuinenuil Lmefilenr phdl g ampulen Cogydrer AMw giemensafiar Quuwir

©)

(E)

Ostiole (B) Micropyle
2euig Guimed aw&CrranLed
Micropores (D) Pits
ew&GrrevGLmiger Qe

Answer not known
efen Ggflueidema

"185. The Thallus A lichens are

MOESHTEHET 2 L eoh Grsisrug,j

(A)
B)
D)

(E)

Commensalisms
gleu&&euTgLd

Mycorrhizal relationship

oGCETHTFL 2 mey

Symbiosis of algae and fungi

undl LHOIL YEHmeldler sl (h umpe]
Parasitic relationship.of algae and fungi
undl wHmih yeremaseatler gL (Haret 2 pay

Answer not known
ellent Qgflwueiidena
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186. A complex structure (pore) which is present in the adjacent cells of

higher fungi is called

o wirfleney yeEpemssaflanr uwsseurip Cewsatid

SO enenenL Ul FIeneTaHeT
\M Dolipore
GLaadGumiy
(C) Bordered pits
' Tena GWlaaT

(E) Answer not known
sllenL. @sflwelicbena

187. Fritsch classified the algae into

sremliupib, Hésmer

(B) Plasmodesmata

WermeGur@ LG

(D) Half Bordered pits

DT GTevane (&Llaer

19flLsh aLarsaemer @dsamean au@gliysasarmsl NNggeni

&/ 11 classes

11 sugliyser -
(C) 9classes
9 augLIyser

(E) Answer not known
- eflen QgMweildena

(B) 10 classes
10 au@Liyser-

(D) 12 classes
12 au@riysar

188. Which of the following plant metabolite is evidence for verifying the

order centrospermae which is erected by Hutchinson?
Spanamib  aThs @@ Sreuy  @reRTLmbd ﬁmsu cuenfleng @l}&tnu@wm
ant Slensenr Carpmieiiss Gean CoravQuirGw eerm GQsr@How endiuBss

STTERTONSG endmg) ?

Betalins
S Lm@eowiemeny

(C) Cyanogens
enswGenm Qgerav

(E) Answer not known
sllen Qgflueidrene
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ausECamedaran

(D) Amino acids
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189.

190.

Identify the most appropriate Cladsgram that can be constructed
using the data matrix given below. Assuming O’s are plesiomorphic
and 1’s are apomorphic chartacters.

Bpengnid srey euicger apob Qupiude fsé sflwrer QsmLyseer
FommGLrélgmb—gy  Csitey Cewus. O-ereiug Qgmiiubhp u@TUSETTSEALD,
1-eramug) Qpmraidlu Qsruiydrer uamysaTtaeyb sansde Qsrarer Coudm(Hibd

1 2 3 4 5
A 0 0 0 0
B 0 1 1 0 0
C 0 1 0 0 0
D 0 1 1 0 1
A B CD A C B D
® 1 L5 W Lo
A D C B D C B A

© L_L.—L'J (D)

(E) Answer not known
sl Qgflwueiidens

The derivation of a taxon through one or more lineages from one
immediately ancestral taxon of the same s called . ,
@ 2 Wfller 2 (HeuTsaEd aTm dog UL FhHseller pPDTs iGeT

SigrivenL 2 WA EHE e meurdulmpsrd, &b

Monophyly (B) Polyphyly
GurBarrsenued umedlssanuad]
(C) Paraphyly (D) Orthophyly

ungrSeenLied) 2 T5CH TS0 U6

(E) Answer not known
eflenL Qgflweiidena
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191. In Bentham and Hookers plant classification, subclass
Monochlamydeae arranged based on
Quigh wHmb endéssiar sreur euasiurigd GCurGamdermiliyGu ergyb
glanamau Ly ThS (Ppepuiled Biennssts bumbmg) ?

(A) Morphological affinity (B) Phylogenic link
yp S@wUued Qgm iy DTS Fmm @enenTLi
Artificial characters (D) Natural affinity
Qewpenss Careyls uekTLSET @uih ueryd GG

(E) Answer not known
eflen_ Qg flwaiicrendy

192. In Engler and Prantl system of classification, class dicotyledoneae
was further classified into subclass
eriiemi  WLHYL  GFTETLD euepsium g @mellasulleed smeuy euEGUL
Cuogith Siser gienamel@ElLdsarns aaueuny Wildauuhdngs 2

(A) Sympetalae and Corypetalae
oL G whmd CarMGur L Ga

(B) Metachlamydeae and Monochlamydeae
oL LrdletmlCL whptb CurCarrdlermSGL

( Archichlamydeae and Sympetalae
< i&SglermBlCL whpib HbGur LG

(D) Polypetalae and Gamopetalae
uredlQui L Ge wHmb CaCururL Ga

(E) Answer not known
aflen GsMweldane
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193.

194.

For the first time, who used the terms monocotyledons and
dicotyledons in botanical classification
paarpsaier  gurelmsllaw wHmb @ @losome e  QeThsamer

Sreureile euenslium g uiedldd Liweufhigdweur

(A) Robert Morison (B) Jerome Bock
gruil. Guriege QepGrrn Cuns
(C) Albertus Magnus y John Ray

SoGuiev Cusarev

(E) Answer not known n
sllen Qaflwaidena

The revised sexual system of Linnaeus classification was published
in
MeCamwatlen Smssiiu’ L urellen auastUTLH WP&D THE LSSSSH®
Ggsfssuu g ? '
(A) Genera Plantarum (1737)

Qmaefyr Qerrermyd (1737)

GB)/ Species Plantarum (1753)
eviSeflev Germermyb (1753)

(C) Philosophia Botanica (1751)
auCanCsmiwr QumiLraflssr (1751)

(D) Hortus Uplandicus (1732)

anriLev 2 Lioramgseu (1732)

(E) Answer not known
e Gsflweiidara
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195. Nannari sherpath 1s prepared using the plane

weremil @efliturend (Qeagiug) abs sreugsdadimhg swurissluRE DS ?

(A) Plumbago Rosea & Hemideismus Indicus
GerburGam GG _ Glap G svey @) simig e
(C) Atropa Belladona (D) Apium Graveolens
< Grrur QG e gllu dyrefCuinGesme

(E) Answer not known
eflen GgMwelane

196. The fiber obtained from the silk-cotton tree is
Boar wrsden ahs LIESHSBHES LEsE QUDILEEDS ?

(A) Wood (B) Bark
OT&E&EL L Ul el
, \(9/ Seed coat (D) Fruit coat
eilenswienm safluyenm

(E) Answer not known
efler Gsfluefcena

197. Lemongrass oil is obtained from
afiFens Lo erablen erhg sreurssedmba upiiuGSpg

(A) Mentha Arvensis
QegT <y reusidl e

(B) Lavendula Officinalis
OTEUST(HET ool crredleiv

- (C) Pelargonium Graveolens
Queai Caraflu HrrelGuimeeiv

\ﬂ( Cymbopogon Flexuosus

HGurGursrer WersaflGursen

(E) Answer not known
eflen @gfwelcena
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198. Which among the following plane is used as a insect-repellent?
ECyp Gsr@ésuuerer  graurtiselld eps sreupd L  eArlgurs

QewduRSng ?

(A) Pyrus Communis (B) Cucumis Sativus
el sepeilev GEGOE0 FUenL_euey

(C) Carrisa Carandas M Pelargonium Geranium
srilar GayrerL_ev WerCGsraflwib sflrmeaflwib

(E) Answer not known
ellenL Qzflueidens

199. Identify the Pseudo cereal from the following:
S supdld GCured sraflwuw ererenbeusny e

Fagopyrum Esculentum (B) Pennisetum Glaucum

QuGsrenUid eTeu@6lewL L LD Gualf b SlCearmsan
(€C) Secale Cereale (D) Avena Sativa

§5Cze0 FNGwed seflenm Flenl_aum

(E) Answer not known
allenL Qzflwelidana

200. Binomial for finger millet is
Capeundler @rbarh Guwir

(A) Pennisetum typhoides (B) Setaria italica
QuereflflLib epLumbLGy QecLmflur @ L rellsn
Eleusine coracana (D) Sorghum bicolor
erdlwedler Camysmenm Qenital epLIGT

(E) Answer not known
sflen Qg fluelerenen
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